
Treaty of Versailles Bubble Activity  

Objective:​ Students will be able to visually display the key components to the Treaty of Versailles and state why such ideas were 

DESIRED ​ and ​INCLUDED ​ as well as the ​CONSEQUENCES​ of the ideas inclusion.  

You will be visually illustrating the causes and consequences of the Treaty of Versailles on post-war Europe - lets begin linking to 

World War II. Working in groups of ​NO MORE​ than ​3​ use the letters of the Treaty of Versailles to visually display the key components 

of the treaty. 

FIRST:  

30 Points – 10 points for including 10 specific provisions (1 pt each) & 20 points for accuracy (2 pts each) – creativity & critical 

thinking included in points  

1. Use ​LETTERS ​to write out ​VERSAILLES TREATY 

a. Turn the letters into images that represent 10 specific and different provisions associated with the Treaty of 

Versailles - they must be accurate and related to the peace plan!  

i. These provisions should include the following - be creative and think critically:  

1. Specific provisions - what it stated (5)  

2. Causes for provisions - why a provision was included (2)  

3. Consequnces of provisions/future events (3)  

ii. How to achieve 10 provisions by altering letters:  

1. You will have ​1 set of THREE ​ letters connected  

2. You will have ​4 sets of TWO ​ letters connected  

3. You will have ​5 SINGLE ​ letters  

iii. You may only use a component ​ONCE​ in your visual (i.e. Once you use League of Nations you cannot use 

that idea again) 

2. Color the pictures so that they are more easily identifiable  

SECOND:  

30 points – 3 points per provision  

1. On a separate sheet of paper (to be attached to your drawing) write each letter/group of letters and how it has been 

altered to represent a component of the plan.  

a. Include the following in your explanation for each provision:  

i. Specific Provisions 

1. Why was the provision included in the Treaty of Versailles 

2. What was the consequence of the provisions inclusion in the Treaty of Versailes  

3. How does your alteration represent the provision  

a. What from the treaty is the letter(s) illustrating? Explain your symbolism 

ii. Causes for Provisions 

1. What provision(s) did the causes lead to being included in the Treaty of Versailles 

2. What was the consquence of the provisions inclusion in the Treaty of Versailles 

3. How does your alteration represent the provision  

a. What from the treaty is the letter(s) illustrating? Explain your symbolism 

iii. Consequences for Provisions  

1. What provision(s) did this result from in the Treaty of Versailles 

2. How does your alteration represent the provision  

a. What from the treaty is the letter(s) illustrating? Explain your symbolism 

 

 

 



Rubric:  

 3 2 1 0 
Letters 

 
*Each letter or 

group of letter is 
worth 2 points 
based upon this 

rubric. 

X The letter(s) properly identify a key 
element related to the causes 
and/or consequences of the Treaty 
of Versailles provisions beyond 
mere trivial facts. The illustrations 
are colored and creative. 

The letter(s) identify a key element 
related to the causes and/or 
consequences of the Treaty of 
Versailles provisions; however, the 
knowledge is minimal, may be a 
misconception and/or lacks much 
critical thinking. The illustrations are 
colored and creative.  

The letter(s) do not properly 
identify a key element related to 
the causes and/or consequences 
of the Treaty of Versailles 
provisions. The knowledge is 
trivial and the illustration is not 
colored.  

Explanations 
 

*Each provision 
included is worth 3 
points based upon 

this rubric. 

The explanation shows that 
the content is understood by 
summarizing concepts & 
provides thorough analysis of 
the provisions causes and 
consequences with specific 
examples for support and 
depth. 

The explanation has limited 
content knowledge or analysis of 
the provision; larger concept 
connections or specific examples 
for support are missing when 
discussing the causes and 
consequences.  

The explanation fails to analyze the 
provision with all required elements. 
Either the cause or consequences is 
missing in the explanation.  

The explanation fails to 
summarize the provision 
correctly or explain the causes 
and consequences.  

 


